it

section 66(E) of IT Act deals with

(A) Punishment for violation of Privacy
(8) Phishing

(C) Cyber sllafking

(D) Spamming

Find the number of straight lines in this figure.
-
EE

There are two numbers such that the sum
of twice the first and thrice the second is 18,
while the sum of thrice the first and twice
the second is 17. The larger of the two is

(A) 10
(C) 13

(B) 15
(D) 12

(A) 12 (B) 4
(C) & (D) 8
AGP Stands for

(A} Accelerated Graphic Pen
{B) Advanced Graphics Pen
(C) Accelerated Graphic Port
(D) Advanced Graphics Port

When did Treaty of Versailles was signed 3.
(A) 1918 (B) 1935
(C) 1920 (D) 1919

If the radius of the base of a right circular
cylinder is halved, keeping the height same,
what is the ratio of the volume of the reduced
cylinder to that of the original one 7

(A) 1:4 (B) 8:1

(C)1:2 (D) 1:8

'SVEEP’ stands for

(A) Systematic Voters Enrolment and
Electoral Participation

(B) Systematic Voters Education and
Electoral Participation

(C) Systematic Voters Engage and Electoral
Participation

(D) Systematic Voters Enrolment and
Education Programme
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23.

24,

25.

i o
26.

Kantilal mixes B0 kg of sugar worth of
Rs. 6.75 per kg with 120 kg worth of Rs. B
per kg. At what rate shall he sell the mixture
to gain 20% 7

(A) Rs. 7.50 (B) Rs. B.85

(C) Rs. 8.20 (D) Rs. 9

A person making false documents with the
intention of causing damage or injury to the
public or any person is called

(A) Cheating (B} Fraud

(C) Forgery (D) None of these

Who is the current Cabinet Secretary of India 7
(A} Rajiv Gauba (B) Ajit Seth

(C) P. K. Sinha (D) Mone of the above
In Youngs double slit experiment, the
distance between the two slits is 0.1 mm
and wavelength of light used is 4 x 107" m.

If the width of fringe on screen is 4 mm, the
distance between screen and slits is

(A) 0.1 mm (B) 1m
(C}) 0.1cm (D) 1cm
The value of

(0.0347)* +(0.9653)°

5
(0.0347)° —0.0347 % 0.9653 +(0.9653)°

(8) 30 &
(C) 10 (D) 1 \2\((}
popularly known i@ .

all-in-one printer, is a device tha
consolidates the capabilities o
devices in one machine.

{A) Laser printer (B) Inkjet printer
(C) Hydra printer (D) Drum printer

n below and based on it
ing question :
A,B,C,D,E, Fand G are 7 houses in a road
are facing east. C is sitting to the right
of D. B is one of the corners and E is his

third from south end.
bour of which of the following

B) GB
D) FC

tiple

:

21.

2.

23.

24,

25.

26.

27.
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8. In this question, two statements are given
followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.
Statements :

1. Some apples are banana.

2. All bananas are fruits,
Conclusions ;

I. Some fruits are apple.

Il. Some bananas are frults.
(A) Only Conclusion Il follows
(8) Both Conclusions | and Il follow
(C) Neither Conclusion | nor Il follows
(D) Only Conclusion | follows

9. Ifthe word PATCH Is written as QBUDI whereas
BATCH Is written as

(A) CBUDI
(C) BCEGH

(B8) ACDFH
(D) CEGIKH

10. Consider the following statements about
minimum education gualification to contest
election of Lok Sabha and Vidhana Sabha,
I. There is no educational qualification for
candidates for being an MP or an MLA,
Il. Putting an educational qualification will
deprive a majority of the citizens right
to contest election In India.
Choose the right option given below
{A) The statement | Is correct
(B) Both the statements | and Il are

Incorrect
(C) Bath the statements | and Ii are curre«?
(D) The statement |l Is correct .
11. In anclent times the term Urvara used
to Indicate
(A) Fertile soil (8) Sandy Soll
(C) Waste soll (D) Sterile soil
12. If (x=1)is the H.C.F. of (x"=1) and
px’ = (x + 1), then
(A) p=2q (8) 2p=3q
- @ 3p=29 (D) q=2p
13, The flux linked with a coil at any Instant t is
S0t + 250, then induced

10.

I

11,

12

13,
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14,

15.

16.

17.

18,

19.

20.

Mohan bought a watch with 25% discount
an the selling price. If the watch cost him
Rs. 1,545, what Is the original selling price
of the watch 7

(A) Cannot be determined

(B) Rs. 2,050

{C) Rs. 2,040

(D) None of these

Amnesty International is an Institution which

promotes

(A) Fundamental Rights of the citizens %?

(B) It promotes peace in the world

(C) Fights against inequality in the society

(D) Human Rights all over the world

Which number will come in the place of

question mark ?

5, 6,15, 50, 207, ?
1000

(A)
{C) 1050

(B) 1544
(D) 1044

- are used for connecting
communication devices like mouse

and modem.

(A) Serial ports

(B) Integrated Digital Electronics (IDE) ports
(C} Universal Serial Bus (USB) ports

(D) Parallel parts

In an exam conducted for 38 students of
class X11 15 passed in Biology and 25 passed in
Chemistry. If at least 1 student failed in bath
the subjects, find the maximum numbgr-of
students who passed in only Biology,

(A) 5 (B) 15

(C) 12 (D) 10

From a point P Samir started walking
towards South and walked™40 m. He then
turned towards his left andWalked 30 m and
reached a point Q. The point Q is at what
minimum distance and at what direction
from the point P ?

(A) 50 m South West (B} 35 m South East
(C) 50 m South East (D) 45 m South East

A region with a large number of deep gullies
or ravines is called a

(A) Valley topography
(B) Badland topography
(C) Bordaned topography

(D) Coastal topography

14,

15.

16.

17.

18

19,

20.
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fers to formal guidelines to conduct
§ K r.glsg,-,:arresearr:h—cohsfsﬁngcfprinclpies
soct

.nd ethical standards
a

discipline :
{a) Participant ethics

(B) Code of ethics
{€) Code of behaviour
(D) Code of conduct

to be used jn the

2. Which number will come in the place of
question mark ?

216 343
f 2 6
4 | 1
)

?
3
(A) 125

(B) 218
(C) 112 (D) 228

Homo sapiens belongs to the family
(A) Hissidae (B) Hominidae
(C) Holinidae (D) None of the above
Presently Haryana Railway Police is Headed by
(A) A.S. Chawla

(B) Surinder Singh Bhoria

(C) Satender Kumar Gupta
(D) Rajinder Kumar

b3.

65. From the given answer figures, select the one in

which the question figure is hidden/embedded,

()
(©)

The Bretton Woods
(A) 1945
(C) 1944

(8)

(D)

Cmfurenﬁehefdin the year
(B) 1991
(D) 1956

Who has the longest ten
Reserve Bank of India 7
(A) I. G. Patel

(B) Sir Benegal Rama Rau
(C) Manmohan Singh

ure as Governor of

(D) None of the above
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74,

Notochord present in
(A} Both (B) and (C)
(C) Chordates

(B) Non-chordates
(D) None of these

If every second Saturday and all Sundays are
holidays in a 30 days month beginning on
Saturday, then how many working days are
there in that last month ?

(a) 20 (B) 23
(C) 22 (D) 21

Which of the following is example for
Lomentum (Schizocarpic fruit) ?

(A) Mango (B) Euphorbia
(€) Mimosa (D) Peach

In a photograph Shyam is to the left of
Madan, Mary is to the right of George.
Karim is in between Shyam and Mary. Who
s at the corner ?
(A) Shyam
IC) George

(B) Karim
(D) Mary

Select the correct mirror image of the given
figure when t:e mirror is placed at line AB.

AKEX
O

MG EiE

T g

B I £

I:(E) A ST A @

A AM B) o ;
(A) QO ( @
T A z:g}l A
(C) 83 M (D) oM
A O 16

The longest National Highway in India NH-7
connects

[A) New Delhi — Mumbai — Bangalore

{B) Shillong — Kanya Kumari

(C} Kashmir— Kanya Kumari

(D) Varanasi - Kanya Kumari

Which State Government Is the sponsor for
Indian Hockey team ?
(A) Telangana

(B) Punjab
IC) oOdisha

(D} Karnataka

.11..

68.

69.

70.

71.

T2,

73.

74,
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75. Oneofthe mostinfluential modern scientists

to put forth a theory about how people
develop a sense of self

(A) Erik Erikson (B) Robert K, Merton
(C) lean Piaget (D) Sigmund Freud

76. Choose the correct order.
(1) Yarn (2) Silkworm
(4) Silk (5) Cloth
(A) (3), (4), (1), (2), (5)
(B) (2), (4), (5), (1), (3)
(C) (2), (4), (3}, (5). (1)
(D) (2), (4), (1), (5).(3)

77. In Microsoft Excel, the is defined
as the vertical space from top to the bottom
of the window.

(3) Saree

(A) Row (B) Insert

(C) Column (D) Tab
78. Apogamy is common in

(A) Cycas (B) Tomato

(C) Ferns (D) Gnetum

79. If in a certain code, ‘OTRIVIN' is written
as 'NIVROTR', then how will ‘RISKING' be
written in that code ?

(B) GNIPRIS

(A) GINPRIS
(D) GNIKRIS "&

(C) GNPIRIS
80. The First Chemical Examiner’s Labo t%}was
established in 1853 by the Gover nt of
(A) Delhi (B)
jarat

Bengal
(C) Hyderabad (D)

g1. India’s first Pan-India helpline for
senior citizens is

(A) Elder line, 14647
(B) Elder line, 14567
(C) Elder line, 14765
(D) None of the above

B2. The average age of 3 friends is 32
the age of a fourth friend is idd-e?.:;.e:f
average age becomes 31 ; 4
age of the fourth friend 7

IDI zﬁ\mms

Years, wh!t is th!

(A} 24 years
(C) 32 years

O %, @S g2 RISKING' %1 4 v 7
‘ (8) smg?'/

e
'_
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is a World Wide Web interface
that allows users to read and write e-malls
using a web browser.

(A) Outlook express

(B) E-mail
(C) Webmail

(D) None of these

Recently, the State which has come up with
a "Happiness Index”” department is
(A) Kerala (B) Karnataka
(C) Haryana (D) None of these
Aguatic mammals in polar seas have a thick
layer of fat known as
(A) Blubber (B) Fur

(C) Rubber (D) Scrubber

Most of the economies are
(A) Mixed economies
{B) Communist economies
(C) Capitalist economies
(D) Socialist economies
refers to the policies undertaken
by Governments (national and subnational
levels) to reduce their deficits and
accumulation of debt stock.
(A) Fiscal consolidation
(B) Fiscal debt
{C) Repo management
(D) Fiscal borrowing

Which one of the following is a outer planet ? |
(A) Mercury (B) Mars $\
(C) Jupiter (D) Venus $
________areinternational discussion groups
that focus on a particular topic and helps in
gathering information about the topic.

(A) File Transfer Protocol (FTP)

(B) Newsgroup
(C) Telnet
(D) None of the above
UNEP announced the eradication of a
pollutant from the world as Algeria —the last
tountry to use exhausted its supplies. It is
(&) Un-leaded petrol (B) Coal tar
(€) Coal (D) Leaded petrol
13-

s
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ans P is the sister of Q ; P + Q@ means
Igfsctll'rrgefather of Q:P—-QmeansPis the
mother of Q. Which of the following means
Sistheauntof T 7 pEAE
(A) TxM+5
(C) SxM+T

(B) S+TxM}
(D) SxM+R=T

hold the information that the CPU
s currently working on,
|A) Control Unit
[C) Output Unit

Jnited Nations was established in the year

(B) Input Unit
(D) Registers

'A) 1965 (B) 1945

(C) 1942 (D) None of the above
chronic liver damage is called

|A) Cirrhosis (B) Lambosis

[C} Poikalosis (D) Lardosis

\ man rides at the rate of 18 km/hr, but
tops for 6 mins to change horses at the end
fevery 7" km. The time that he will take to
aver a distance of 90 km is

A) 6 hrs 18 min. (B) 6hrs 12 min.
2) 6hrs (D) 6 hrs 24 min.

Haryana the First Krishi Vigyan Kendra
as established in

\) 1970 (B) 1983 j
-} 1980 (D) 1976 :

‘4. 120 men had provisions for 200-ddys.

After 5 days, 30 men died due to an
epidemic. The remaining food will now

last for
(A) 150 days (B) 260 davs
(C) 245 days (D) ldE days

he leaders who were behind the
stablishment of UNO are

A) Franklin D. Roosevelt, Jose h Stalin,
Winston Churchill p

B) Wudro W|15c:n Winston Churchill,
JuseEh Stalin

ol Frgnnilln D. Roosevelt, Winston Churchill,

D) Franklin D, Roosevelt,
Winston Churchill ¢ - Lenin,

How much angle does a minute hand cover
In 20 minutes ?

(A) 120°

(C) 80° (8] 608

(D) 180°

28.

30.

31,

32,

34.

35.

36.
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(A) fatifem ~ () SrmEifEE
(C)q’lﬁ—d’ﬁm\/ (D) wTEifEE
uw et 18- fft /a2 <t @ & wa = 2,
ﬁﬁwm?ﬁﬁ%mﬁﬁﬁﬁmﬁ%%q
6 fime St & smen & | 90 et #1 2ft 73
FA Ko e w5y @ 7
m}ﬁa% 18 fire (B) 6% 12 fimg’
fc) 6&2 (D) 6% 24 firme
B & veen #8 fawe 2w wnfm A ?
(A) 197 (B) 1983
(C) 1980 (D) 1976

120 T¥91 % &g 200 fei =t wgwm an | 5 fHf
< 1, HEHRI % T 30 TR ) gy A |
39 91 §A1 WisH fra ft e wom 7

(A) 150 d:/ (B) 260 days

(C) 245d (D) 146% days

ggﬁ T}E; ag i = F 8 = daei ®
a1

(A) WeFfer &, widiee, SR wifer, fme afee
B) et e, farmeen i, i wife
(€) wiwfer #. sedee, ey wfde, Je&
(D) hiwfer €. wordee, Sfm, fimes afda
i
%T'g areht q§ 20 fime ¥ faraw

(A) 12 (B) 60°
(C) 80® (D) 180°
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39,

i1

13

% (B) Biomass of aguatic ecosystem

42,

In case of an ore containing ZnS and Pbs, the
depressant used is

(A) ZnCN (B) NaSCN
(C) NaCN (D) PbSCN

Vision "SAGAR’ (Security and Growth for All
in the Region) is related to

(A) Indo-Pacific (B) Indo-Bangla

(C) India-Caribbean (D) Indo-China

Where did Napoleon Bonaparte die ?
(A) St. Helena (B) Nile
(C) Corsica (D) St. Elba

A train 270 meter long is running at a speed
of 36 km per hour, then it will cross a bridge
of length 180 metres in

(A) 50 sec. (B) 45 sec.
(C) 40 sec. (D} 35 sec.
Which of the following pyramid is always

upright ?
(A) Energy

(C) Number
(D) Biomass

also known as the system board,
is a large multilayered printed circuit board
inside a computer.

(A) Motherboard
(B) Basic Input/Output Systems (BIOS)
(C) Control Unit
(D) None of the above §
Teacher : Education : : Mason : ?
(A) Shoes (B) Film
(C) Book (D} wall
44. Carbohydrate, protein and fat

metabolism in the body is regulated
by the hormone
B; FSH
(6

(A) Adrenaline
{3 Thyroxin Oxytocin

The state of World Population Report is an
~annual report published by

\2@‘
&.
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38.
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2nS 3N PhS AN T 7 H, W HAEEE §

(A) ZnCN (B) NaSCN

(C) NaCN (D) PbSCN

iR ‘SAGAR’ (&1 1 wa ¥ feru een ofv 3f%)
o gl @ | B,

(A) WA -yra (BY STre -

(C) wra-Ffrfaza (D) WA=+

Auferr s ) g el g 7
(A) He Betn (8) et
(C) wifefar (D) &z W

270 e =t v 37 36 ot wfa sz 1 A A
@ W@ 2, @ 7w 180 izt @ F U G B
(A) 50%Fze (B) 45%%%
(C) 40 &%z (D) 358%FE

frrferfiaa §2 #-an frafire wa e 7 7
(A)
(B) srefinfifeafaeht gorefl 1 S

D W w9 o wE £, T 0

- % ¥ieR U 751 5 YAl qren gizd 9i9g
|

m%ﬁﬁ / foree (

(B) =l §92/ 313 BIOS)

() Fraror gd

(D) 39t § & =ré 7

T - e . ot 7

(A) d (B) frem

(C) &= (8)San

(A) sratiefig o o
(8) favm e (Smésh)

5 TS (Tsequman
(C) ma?ﬂm %

(D)




) = Gross National

6. Net Naﬂnnn”’mdu-.:l rNNP-

roduct (G -

::.j jnvestment () Deduction

(C) pepreciation

a7 CpnsiderIhei’oil'owil'lgﬁtal.emen.;_s
: about Reserve Bank of India

RBI). =0\
f' ljtlsthefenlralﬂank of India which controls

the monetary policy of the country.
1. It supervises the activities of both the

formal and Informal sectors and keep
the track of their activities.
Choose the right option given below :
(A) The statement | is correct
(B) Both the statements | and Il are incorrect
(C) Both the statements | and Il are correct
(D) The statement Il is correct

(D) None of the above

The purposeful, organized groups that strive
to work toward a common social goal are
(A) Flash movements

(B) Conventional movements

(C) Political movements

(D) Soclal movements

Which of the following is not a impact printer ?
(A) dot matrix printer (B) laser printer

(C) drum printer
Complete the series :
7,26, 63, 124, 215, 342, ?

(A) 481 (B) 421
{C) 391 (D) 511
Litmus solution is a dye,
(A) Orange (B) Lilac
(C) Purple (D) Yellow

Which of the following Acts provides the
Statutory Status to functioning of Reserve
Bank of India ?
(A) The Reserve Bank of India Act, 1954
(I of 1954)
(B) The Reserve Bank of India Act, 1934
(Il of 1934)
(C) The Reserve Bank of India Act, 1944
(I of 1944)
(D) None of the above

(D) daisy wheel printer/ '
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& T e (v ). = e TR I

{_-ﬂU:l rﬁ} NI

(A) Fam (8) w2

(C) FaBTE (D) & A W ol
sirefra frord e (RBI) 3 it # Freferfr ww
t faram =t |

| 7% T w1 e & 5 2w ) o iy
# Prafa we R | o 4

i1, e shoahe i st @9 A of)
nfafafirgt @ sfamm wam R I
nfafafirat o s @ R |

Profafias 8 2 o e = 994 &l

(A) wu || R

(8) = | st 2wt Tl §

(C) 2t e | 3t =t

(D) =2 |1 et B

seargel, @nfea S UF AW e
awﬁﬁmﬁmﬂ?ﬁmmﬂi&!
(A) wH HiEeH

(8) A

(S SERIEE R S E

) wrfers e

frefefas § & s9-w = wiw Sty
(A) T ifem i  (8) S fim

(c) sm fie~ (D) T=ft = fifex
ﬂ'ﬁ?ﬂ"{?‘ﬂﬁ

7,26, 63,124, 215, 342, ?

(A) 48 (8) 421

(C) 391 (D) 511

forzma faerma o= : mR
(A) FToft (B) e

(C) =t (D) diem
frafafas @ - arfafam fiod # ais
sfEa & Fww & A et e s d 7

(A) vt frord S sfufiam, 1954
(1954 %1 11)

(8) ety ford &= srfufam, 1934
(1934 %111) i
(C) wireelta frord &= srftfiam, 1944
(1944 %1 11) R
(D) Ivir # | w7
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57,

Section 82 of Indian Penal Cod

_ e provide:
that nothing is an offence which isEione b;
a child under ___Years of age,
(A) 15 (B) 7
(C) 12 (D) S
_______is provided by the Internet
Service Provider (ISP) to instruct the modem
to dial thle telephone number and to identify
the user's machine to the access provider's
system for access to the network,
(A) Dialler software
(8) TCP/iP
(C) Browser

(D) None of the above

Inflation in an economy may arise from the

overall increase in the cost of production. It
is called

(A) Cost-push inflation

(B) Deficit-induced inflation
(C) Demand-pull inflation
(D) Noinflation

56. Aruna ranks twelfth in a class of forty-six.
What will be her rank from the last ?

(A} 37 (B) 34t

{C)-35% (D) 33~
Who was called as the Father of Anatomy ?
(A) Aristotle (B) Ptolemy

(C) Herophilus

What is the number of pieces into ch
a cube can be cut by three cu ne
direction, six cuts in the secon ction

(A) 126 (B) 278
() 312 (D) 224
Find out the incorrect matching related to
Atomic Power Stations and the States in
which they located.

(D) Hippocrates \ J

(A) Narora —  Uttar Pradesh

(B) Kalpakkam -  Andhra Pradesh
(C) Kaiga - Karnataka

(D) Kakarapara -  Gujarat
Permanent Court euJ Arbitration (PCA)
Headm mﬂerislom_ ?!' i

(C) New York. (D) Karachi
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sz widm drangst (I5P) AU EL
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(A) ETIEH wfe
(B) TCP/IP
(€ a==
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55, UE wdyEEdl H arefify FearEa @
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54,

(B) =meT-ufta qEE
(c) win—sifm qErehife
(D) whifa =l
56, fogmEE FrnE w1 H S 1 T ATl # |

mrﬁ%.ﬂm-mmﬁm?/&ﬂ@
EEE

(A3 (B) 34t
X &C}. 35th lD: 33!-1
57 YT T e s R e @ 7
(A) Ffeefes -~ (B) e
(C) #ifFeE (D) fedvrza

58. U famn # 7 Fe, 2wl fam d @ Fe R
et o | wra e T g v w9 e
Z&el 1§ F2 w7

(A) 126 (B) 278 -
(C) 312 (D) 2@5//
59. WU F| WA R IT T § waEA v
forem= =1 wan i3 fem e
(A) T - IWWW
(B) FeqaH ~ duwEm
(C) &m -  FAH
(D) =RTRTTIT - TEA
60. TRz R IfE afiesm (p
t_l___if&mtl (PCA) ™ e
g (B) &
(© (D) Farh






